| | | (37)4/41 | | | | | | | | |
|--------------|-------------|------------------------------------|----------------------------------|--------------|--|--------------------------|-----------|---------------------|----------------|----------------------|
| Tempory Wo | rk Agrement | S (TWA'S) ESY, Summer - | | | | | | | | |
| Last Name | First Name | Non-ESY, or Regular School Year | Position/Title | Assignment | Details of Assignment | Assignment Start Date | End Date | Total # of Hours | Hourly Rate | Est. Total Amount |
| Stoll | David | Regular School Year | District Business Office | Extra Duty | Supporting Administrative Staff | 7/1/2024 | 6/30/2025 | 1,000 | \$73.13 | \$73,130 |
| Levy-Maguire | Marci | Regular School Year | District Business Office | Extra Duty | Carl Perkins Coordinator | 7/1/2024 | 6/30/2025 | 615 | \$57.67 | |
| Kranz | Isabella | Regular School Year | SPED Teacher | Teacher | .4 building sub Mondays and Fridays, including workshops. Revised 4/2025 to Fulltime bu | 8/20/2024 | 6/13/2024 | 724 | \$38.33 | \$27,751 |
| Ridgley | Angela | Regular School Year | Nurse | Nurse | Long Term Sub at AEC, replacement of resigned employee. | 2/12/2025 | 6/13/2025 | 600 | \$43.11 | |
| Roush | Nicolle | Regular School Year | District Business Office | Extra Duty | To provide additional help and resources with the transition to the new Director of Finance. | 12/1/2024 | 6/30/2025 | 300 | \$83.65 | |
| Armbrust | Melissa | Regular School Year | Vision-TVI | Extra Duty | Covering LOA and additional hours to support caseload being over 1.0 FTE **UP TO 10 Al | | 6/30/2025 | 290 | \$53.39 | |
| Larsen | Betsy | Regular School Year | SPED Teacher | Teacher | Homebound Services for Cole Carlson | 9/3/2024 | 6/13/2025 | | \$64.05 | |
| Kaufman | Amy | Regular School Year | Vision-TVI | Extra Duty | Additional hours to support caseload being over 1.0 FTE ***UP TO 5 HOURS PER WEEK' | | 6/7/2025 | | \$68.86 | |
| Frisque | Sherilyn | Regular School Year | Vision-TVI | Teacher | Additional hours to support caseload being over 1.0 FTE | 3/17/2025 | 6/30/2025 | 150 | \$70.76 | |
| | | _ | | | Assist with planning and support- due process related to ESY, completion of intake paperwork. Planning and coordination for 24-25, miscellaneous meeting. PAES lab set up, supporting classroom transition with new added teachers and support for new | | | | | |
| Renken | Wendi | Summer - Non-ESY | Lead Teacher | Extra Duty | teachers same for BTC | 7/1/2024 | 8/23/2024 | 160 | \$61.67 | |
| Roush | Kayla | Regular School Year | SLI - Interpreter | Extra Duty | SLI Mentor; SLI sub; meetings | 8/26/2024 | 6/30/2025 | 300 | \$32.74 | |
| Wesley | Renata | Regular School Year | Educational Support Professional | Teacher | Short-call sub | 9/3/2024 | 6/11/2025 | | \$33.50 | |
| Epps | Dawn | ESY | SPED Teacher | Teacher | July Summer School Session | 7/8/2024 | 8/2/2024 | 160 | \$61.10 | |
| Frisque | Sherilyn | ESY | Vision-TVI | Teacher | ITIN July/August Hours | 7/1/2024 | 8/23/2024 | 144 | \$67.07 | |
| Larsen | Betsy | Regular School Year | SPED Teacher | Teacher | Homebound Services for Kollette Kinsley | 9/3/2024 | 6/13/2025 | | \$64.05 | |
| Millage | Rachel | ESY | SPED Teacher | Teacher | July Summer School Session | 7/8/2024 | 8/2/2024 | 160 | \$51.11 | |
| Schmitz | Steven | Regular School Year | Custodian | Extra Duty | Delivery/Custodial Duties | 8/19/2024 | 6/20/2025 | 378 | \$19.71 | |
| Monson | Jodi | Summer - Non-ESY | SLI - Interpreter | Extra Duty | Interp bef/aft sch activities-Dist 199 stu-TCF | 7/8/2024 | 6/30/2025 | 175 | \$41.64 | \$7,287 |
| Frisque | Sherilyn | Regular School Year | Vision-TVI | Teacher | Support BVI Team with Cortical Visual Impairment (CVI) Assessments | 9/5/2024 | 6/30/2024 | 100 | \$70.76 | \$7,076 |
| Ward | Ashley | Regular School Year | Vision-TVI | Extra Duty | Covering LOA and additional hours to support caseload being over 1.0 FTE **UP TO 5 AD | 11/20/2024 | 6/30/2025 | 145 | \$48.10 | \$6,975 |
| McCusker | Alison | Regular School Year | SPED Teacher | Extra Duty | Student's independent study time over teachers prep time | 9/19/2024 | 6/12/2025 | 135 | \$49.84 | \$6,728 |
| Henry | Sara | Regular School Year | Vision-TVI | Extra Duty | Covering LOA and additional hours to support caseload being over 1.0 FTE **UP TO 5 AD | 11/20/2024 | 6/30/2025 | 145 | \$38.00 | \$5,510 |
| Swanson | Jamie | ESY | SPED Teacher | Teacher | July Summer School Session | 7/8/2024 | 8/2/2024 | 160 | \$33.78 | \$5,405 |
| Ridgley | Angela | Regular School Year | Nurse | Nurse | Sub for nurses on a as needed basis throughout the district. | 8/28/2024 | 6/13/2025 | 160 | \$33.50 | \$5,360 |
| Thomas Brook | Eve | Summer - Non-ESY | Reading Specialist | Prof. Dev. | CIP, PD, Curriculum, READ Act, MTSS | 7/1/2024 | 8/30/2024 | 80 | \$65.59 | \$5,247 |
| Taffe | Kayleen | Summer - Non-ESY | Reading Specialist | Prof. Dev. | CIP, PD, Curriculum, READ Act | 7/1/2024 | 8/30/2024 | 80 | \$65.59 | \$5,247 |
| Frisque | Sherilyn | ESY | Vision-TVI | Teacher | Teacher ECC Camp | 7/29/2024 | 8/20/2024 | 78 | \$67.07 | \$5,231 |
| Mattice | Cathleen | Summer - Non-ESY | Lead Teacher | Lead Teacher | Lead Teacher Duties-80 hours, Sunshine/Culture Committee/Plan Student and Parent Events for the school year-5 hours | 7/1/2024 | 8/23/2024 | 85 | \$61.10 | \$5,194 |
| Stocco | Corey | Summer - Non-ESY | BCBA | Extra Duty | BCBA Summer Work Hours, 40 hours required but up to 80 hours with supervisor pre-approval | 7/1/2024 | 8/23/2024 | 80 | \$64.88 | \$5,190 |
| Rix | Melanie | Summer - Non-ESY | Lead Teacher | Extra Duty | Planning and preparing for yearly duties (curriculum, teacher support, due process etc) | 7/1/2024 | 8/23/2024 | 80 | \$61.10 | |
| Novy | Rachel | | Lead Teacher | Training | Ukeru training and materials prep (inital training content review, development of summative assessment tool, unpacking and assembling shields, development of 3-4 refresher slideshows) (24 hours), Training time (10 hours). PCM & Supine Prep (35 hours), BTT Prep (7 hours) | 7/1/2024 | 6/30/2025 | 76 | \$63.88 | . , |
| | | | | | BCBA Summer Work Hours, 32 hours required but up to 80 hours with supervisor | | | | | |
| Turzynski | Adrienne | Summer - Non-ESY | BCBA | Extra Duty | pre-approval | 7/1/2024 | 8/21/2024 | 80 | \$57.53 | . , |
| Dodge | Michelle | Summer - Non-ESY | SLI - Interpreter | Extra Duty | Interp IEP mtgs, Extracurricular Activities (ECAs) for DHH students | 7/1/2024 | 6/30/2025 | 100 | \$45.64 | \$4,564 |
| Newquist | Matthew | Summer - Non-ESY | ВСВА | Extra Duty | BCBA Summer Work Hours, 34 hours required but up to 80 hours with supervisor pre-approval Assist with planning and support health related items on intake paperwork, planning and coordination for 24-25, miscellaneous meeting, reviewing and updating health plans, | 7/1/2024 | 8/10/2024 | 80 | \$55.63 | \$4,450 |
| Но | Melissa | Summer - Non-ESY | Nurse | Extra Duty | ildentify any staff in need training for delegated health functions. Time to meet with HA's (they have extra day per work agreement), Work on staff training, health forms, etc, Preparation and follow up on any 3rd party billing activites | 7/1/2024 | 8/23/2024 | 80 | \$52.97 | \$4,238 |
| Pemble | Holly | ESY | PHD Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$65.59 | |
| Peters | Amanda | | PHD Teacher | Prof. Dev. | CIP, PD, Curriculum | 7/1/2024 | 8/30/2024 | 80 | \$51.63 | |
| Rasmussen | Shannon | Summer - Non-ESY | DHH - Teacher | Extra Duty | D/HH Resource Preschool Teacher | 7/8/2024 | 8/1/2024 | 64 | \$62.92 | |
| | Beverly | ESY | Program Assistant | PA PA | July Summer School Session | 7/8/2024 | 8/2/2024 | 140 | \$28.61 | |
| Bauer | Heidi | ESY | SPED Teacher | | Subbing as needed during ESY | 7/8/2024 | | 64 | \$62.39 | |
| Helm | | | | Teacher | • | | 8/1/2024 | | | |
| Burgio | Michael | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$62.39 | |
| Tuvey | Sara | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$62.17 | |
| Landberg | Susan | ESY | DHH - Teacher | Extra Duty | Elementary Teacher (K-5)-D/HH Resource Elem | 7/8/2024 | 8/1/2024 | 64 | \$62.16 | |
| Mayer | Lisa | Regular School Year | SPED Teacher | Teacher | Teaching homebased student from 2:30pm-3:45pm Monday-Friday (excludes Wed.) | 1/28/2025 | 6/12/2025 | | \$41.81 | |
| Larsen | Betsy | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$61.10 | \$3,910 |

| Tempory Wor | rk Agrements | S (TWA'S) ESY, Summer - | | | | | | | | |
|-------------|--------------|------------------------------------|----------------------------------|--------------|--|--------------------------|------------------------|---------------------|--------------------|----------------------|
| Last Name | First Name | Non-ESY, or Regular School Year | Position/Title | Assignment | Details of Assignment | Assignment Start Date | End Date | Total # of Hours | Hourly Rate | Est. Total Amount |
| ldeen | Sarah | Summer - Non-ESY | DHH - Teacher | Extra Duty | CD Action Team (9 hrs)-Lead Teacher (60) | 7/1/2024 | 8/30/2024 | 69 | \$56.48 | \$3,897 |
| Szoka | Brenda | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$60.80 | \$3,891 |
| Manninen | Melanie | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$60.80 | \$3,891 |
| Wendel | Shannon | ESY | SPED Teacher | Teacher | Subbing as needed during ESY | 7/8/2024 | 8/1/2024 | 64 | \$60.80 | \$3,891 |
| Petersen | Jennifer | ESY | Mental Health Practitioner | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$60.24 | \$3,855 |
| Larsen | Betsy | Regular School Year | SPED Teacher | Teacher | Homebound Services for Levi Callahan | 12/13/2024 | 6/13/2025 | 60 | \$64.05 | \$3,843 |
| Baker | Kristin | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$59.20 | \$3,789 |
| Blanchette | Amanda | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$58.89 | \$3,769 |
| Ross | Alyssa | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$58.00 | \$3,712 |
| Kinsella | Shawn | Summer - Non-ESY | BCBA | Extra Duty | BCBA Summer Work Hours, 40 hours required but up to 80 hours with supervisor pre-approval | 7/1/2024 | 8/10/2024 | 80 | \$44.71 | \$3,577 |
| | | | | | BCBA Summer Work Hours, 40 hours required but up to 80 hours with supervisor | | | | | |
| | | Summer - Non-ESY | BCBA | Extra Duty | pre-approval | 7/1/2024 | 8/23/2024 | 80 | \$44.71 | \$3,577 |
| | | ESY | Program Assistant | PA | July Summer School Session | 7/8/2024 | 8/2/2024 | 150 | \$23.70 | |
| | | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | | \$54.86 | |
| • | Amy | Ŭ | Mental Health Practitioner | Extra Duty | complete group skills notes on students Clean, organize, structure, and plan for increased BOTE room use by all students next | 1/15/2025 | 6/12/2025 | | \$55.34 | |
| Zickrick | | Summer - Non-ESY | SPED Teacher | Extra Duty | year. | 7/1/2024 | 8/23/2024 | 56 | \$61.67 | |
| | | Summer - Non-ESY Summer - Non-ESY | Vision-TVI BCBA | Teacher | ITIN July/August hours BCBA Summer Work Hours, 40 hours required but up to 80 hours with supervisor | 7/1/2024 | 8/30/2024 8/10/2024 | 71 | \$48.48 \$43.00 | |
| | | ESY | | Extra Duty | pre-approval D/HH Resource Deaf+ Teacher | 7/1/2024 | | 64 | \$43.00 \$53.60 | |
| | | Regular School Year | DHH - Teacher | Extra Duty | | 8/30/2024 | 8/1/2024 6/10/2025 | | \$33.50 | |
| Rensch | Amy | Regular School Year | Educational Support Professional | Teacher | Subbing as needed for teachers BCBA Summer Work Hours, 40 hours required but up to 80 hours with supervisor | 8/30/2024 | 6/10/2025 | 100 | \$33.50 | \$3,350 |
| Odell | Alicia | Summer - Non-ESY | BCBA | Extra Duty | pre-approval | 7/1/2024 | 8/23/2024 | 80 | \$41.36 | \$3,309 |
| McGibbon | Sharri | Summer - Non-ESY | Lead Teacher | Extra Duty | Planning and preparing for yearly duties (curriculum, teacher support, due process, etc.) | 7/1/2024 | 8/18/2024 | 80 | \$40.87 | \$3,270 |
| Larsen | Betsy | Regular School Year | SPED Teacher | Teacher | Homebound Services for Aiden Simones | 9/3/2024 | 6/13/2025 | 50 | \$64.05 | \$3,203 |
| Occena | Zylyll | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$49.74 | \$3,183 |
| Thames | Deric | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$49.00 | \$3,136 |
| Kaufman | Amy | ESY | Vision-TVI | Prof. Dev. | ITIN July/August Hours (39 hrs) and BVI development of an evaluation template for consistency of service provision across member districts (8 hrs) | 7/1/2024 | 8/30/2024 | 47 | \$65.59 | \$3,083 |
| Epps | Dawn | ESY | SPED Teacher | Teacher | June SS Session | 6/12/2025 | 6/20/2025 | 48 | \$64.06 | \$3,075 |
| | Bobbie | ESY | Program Assistant | PA | July Summer School Session | 7/8/2024 | 8/2/2024 | 135 | \$22.30 | \$3,011 |
| McCusker | Alison | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$45.73 | \$2,927 |
| Bullecer | Rira | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$45.23 | \$2,895 |
| Moulton | Emily | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$45.22 | \$2,894 |
| Proulx | Kelli | Regular School Year | PHD Teacher | Extra Duty | Covering maternity leave for JN **5 HOURS PER WEEK* | 10/21/2024 | 12/19/2024 | 45 | \$64.06 | \$2,883 |
| Jonasen | Jana | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$44.69 | \$2,860 |
| Wilson | Lori | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$44.51 | \$2,849 |
| Dodge | Michelle | Summer - Non-ESY | SLI - Interpreter | Extra Duty | Lead duties/DHH interviews (12) Interp mtgs/PD for DHH staff (50) | 7/1/2024 | 6/30/2025 | 62 | \$45.64 | \$2,830 |
| Schulz | Samantha | ESY | Mental Health Practitioner | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$44.05 | \$2,819 |
| | 01 | 0 W 50V | | | School Store set up tie into PAES and MTSS planning school wide interventions and into WBL Create the TESA Exhange. The time spent will be taking inventory of all of the task boxes and categorizing and labeling them by skills addressed as well as levels of | 7 // 1000 / | 0 (00 (000 4 | | 204.0= | 40 - 40 |
| | | Summer - Non-ESY | SPED Teacher | Extra Duty | difficulty. | 7/1/2024 | 8/23/2024 | | \$61.67 | |
| | Jennifer | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | | \$67.71 | |
| Millage | | ESY | SPED Teacher | Teacher | June SS Session | 6/12/2025 | | | \$56.28 | |
| Winblad | Heather | ESY | SPED Teacher | Teacher | ESY "Core Values Committee 2 Work: - Core Values Exploration lesson plan for staff to | 7/8/2024 | 8/1/2024 | 64 | \$41.80 | \$2,675 |
| Petersen | Jennifer | Summer - Non-ESY | Mental Health Practitioner | Prof. Dev. | complete with students during week 1 of the 2024-25 school year - | 7/1/2024 | 6/12/2025 | 44 | \$60.24 | |
| Eaton | Carmen | Summer - Non-ESY | Secondary Teacher | Extra Duty | Intake/Enrollment | 7/15/2024 | 8/30/2024 | 40 | \$65.59 | |
| Smith | Norman | Summer - Non-ESY | Secondary Teacher | Extra Duty | Intake/Enrollment | 7/15/2024 | 8/30/2024 | 40 | \$65.59 | |
| Tuftee | Shanyn | Summer - Non-ESY | Physical Therapist | Lead Teacher | Lead Teacher hours and PT Site | 7/2/2024 | 8/30/2024 | 40 | \$65.59 | |
| Kraft | Joan | ESY | Nurse | Nurse | ESY | 7/8/2024 | 8/1/2024 | 64 | \$40.88 | \$2,616 |
| Rejuso | Rushel | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$40.22 | \$2,574 |
| Robinson | Jane | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$40.05 | \$2,563 |
| Novy | Rachel | Summer - Non-ESY | Lead Teacher | Extra Duty | Planning and preparing for yearly duties (curriculum, teacher support, due process, etc.) | 7/1/2024 | 8/18/2024 | 40 | \$63.88 | \$2,555 |
| Novy | Rachel | Summer - Non-ESY | Lead Teacher | Prof. Dev. | Navigator, New Staff Training, Mentoring | 7/1/2024 | 8/30/2024 | 40 | \$63.88 | \$2,555 |

| Tempory Wo | rk Agrements | | | | | | | | | |
|------------|--------------|--------------------------------------|-----------------------------------|------------|---|------------|------------|------------|---------|------------|
| | | ESY, Summer - Non-ESY, or Regular | | | | Assignment | | Total # of | Hourly | Est. Total |
| Last Name | First Name | School Year | Position/Title | Assignment | Details of Assignment | Start Date | End Date | Hours | Rate | Amount |
| Armbrust | Melissa | ESY | Vision-TVI | Teacher | Teacher for Braille Camp | 7/29/2024 | 8/18/2024 | 52 | \$48.48 | \$2,521 |
| Newquist | Matthew | Regular School Year | BCBA | Training | Initial Ukeru training for CASE staff (10 hours), PCM & Supine Prep (35 hours) | 7/1/2024 | 6/30/2025 | 45 | \$55.63 | \$2,503 |
| Keller | Claire | Summer - Non-ESY | Nurse | Extra Duty | Prep for school year. (Health Plans and Medical Records) | 8/1/2024 | 8/23/2024 | 40 | \$61.72 | \$2,469 |
| Waldhauser | Sarah | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$38.12 | \$2,440 |
| Tupas | Rechel | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$37.93 | \$2,428 |
| Mayer | | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$37.40 | |
| Richard | | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$36.90 | |
| Hereford | Jessica | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$36.90 | \$2,362 |
| Lauer | | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$36.90 | |
| Grove | Sara | Regular School Year | SPED Teacher | Extra Duty | Covering Due Process for a teacher that is out. | 10/30/2024 | 1/1/2025 | 40 | \$57.51 | \$2,300 |
| Corsello | | ESY | DHH - Teacher | Extra Duty | Elementary Teacher (K-5)-D/HH Resource Elem | 7/8/2024 | 8/1/2024 | 64 | \$35.24 | |
| Vrieze | | Summer - Non-ESY | SPED Teacher | Extra Duty | PAES LAB Training & Set Up. Exploring locations in Bloomington, including its outskirts, and in various Dakota County cities to identify volunteer sites and potential work experience opportunities for Community-Based Vocational Learning. If School District 271 restricts 917 from working at certain sites, we'll consider other options. | 7/1/2024 | 8/23/2024 | 36 | \$61.67 | |
| Vrieze | Janel | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 32 | \$67.48 | \$2,159 |
| Staples | Ann | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$33.61 | \$2,151 |
| Kranz | Isabella | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$33.56 | \$2,148 |
| Anderson | Tracie | Summer - Non-ESY | BCBA | Training | PCM & Supine Prep (42 hours), PCM 22 Update (6 hours) | 7/1/2024 | 6/30/2025 | 48 | \$44.71 | \$2,146 |
| Toay | Gretchen | ESY | SLI - Interpreter | Extra Duty | Sign Language Interpreter-D/HH Resource Elem | 7/8/2024 | 8/1/2024 | 64 | \$33.51 | \$2,145 |
| Heaney | Joseph | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$33.25 | \$2,128 |
| Manninen | Melanie | Regular School Year | SPED Teacher | Training | PCM & Supine Prep | 7/1/2024 | 6/30/2025 | 35 | \$60.80 | |
| Но | | Summer - Non-ESY | Nurse | Extra Duty | Prep for school year. (Health Plan, Medical Records) | 8/1/2024 | 8/23/2024 | 40 | \$52.97 | |
| Rensch | Amy | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$32.90 | |
| Bonnert | | ESY | Health Associate | Nurse | ESY | 7/8/2024 | 8/1/2024 | 64 | \$32.70 | |
| VERSEN | | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$31.85 | |
| ODELL | | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$31.85 | |
| Weeks | | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$31.85 | |
| | | ESY | SPED Teacher | Teacher | ESY | 7/8/2024 | 8/1/2024 | 64 | \$31.85 | |
| Vaitkunas | | ESY | | PA | ESY | | 8/1/2024 | 64 | \$30.61 | |
| Simonsen | | | Program Assistant | | | 7/8/2024 | | | | \$1,959 |
| Strese | | ESY | Classroom Assistant | CA Duta | ESY | 7/8/2024 | 8/1/2024 | 64 | \$30.61 | \$1,959 |
| Nitcher | - | ESY | SLI - Interpreter | Extra Duty | Sign Language Interpreter Itinerant-TESA/DCTC ESY | 7/8/2024 | 8/2/2024 | 64 | \$30.51 | \$1,953 |
| Haroldson | - | ESY | Classroom Assistant | CA | CA for ECC ESY | 7/29/2024 | 8/20/2024 | 72 | \$26.61 | \$1,903 |
| GAUDE | | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$29.63 | |
| Но | Melissa | _ | Nurse | Extra Duty | Caseload Coverage at AEC | 1/6/2025 | 2/12/2025 | 30 | \$62.16 | |
| Kurten | Amber | Regular School Year | PHD Teacher | Extra Duty | Covering maternity leave for JN **5 HRS PER WEEK** | 10/21/2024 | 12/19/2024 | 40 | \$46.25 | |
| Aalgaard | Maren | ESY | jkalfjkls;jfk | CA | CA for ECC ESY | 7/29/2024 | 8/20/2024 | 72 | \$25.76 | \$1,842 |
| Abdulkadir | Joan | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$28.61 | \$1,831 |
| Elbers | Kari | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$28.61 | . , |
| Spurgin | Lynette | ESY | Program Assistant | PA | Subbing as needed during ESY | 7/8/2024 | 8/1/2024 | 64 | \$28.61 | \$1,831 |
| Dietrich | Megan | ESY | SLI - Interpreter | Extra Duty | Sign Language Interpreter Itinerant-CH @ OGE | 7/8/2024 | 7/19/2024 | 65 | \$28.03 | \$1,822 |
| Bruce | Janet | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$28.10 | \$1,798 |
| Swanson | Jamie | ESY | SPED Teacher | Teacher | June SS Session | 6/12/2025 | 6/20/2025 | 48 | \$36.83 | \$1,769 |
| Hoelscher | Justin | Regular School Year | Intake Coordinator | Training | PCM & Supine Prep | 7/1/2024 | 6/30/2025 | 42 | \$41.75 | \$1,754 |
| McCusker | | Summer - Non-ESY | SPED Teacher | Extra Duty | Revamp the TESA Apartment, to improve the independent living curriculum, inventory TESA Apartment, | 7/1/2024 | 8/23/2024 | 38 | \$45.72 | |
| Nagy | Jo Ann | Summer - Non-ESY | Nurse | Extra Duty | Prep for school year. (Health Plans, Medical Records) | 8/1/2024 | 8/23/2024 | 40 | \$43.32 | \$1,733 |
| Bruels | Katelyn | ESY | Classroom Assistant | CA | CA for ECC | 7/29/2024 | 8/20/2024 | 72 | \$24.21 | |
| Rao | Anjali | ESY | Intervener Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$26.70 | \$1,709 |
| Zehnder | Scott | Regular School Year | Custodian | Extra Duty | Overtime hours | 7/1/2024 | 6/30/2025 | 50 | \$34.14 | \$1,707 |
| ANDERSON | AMY | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$26.63 | \$1,704 |
| Fleming | Angelita | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$26.61 | \$1,703 |
| Sittarich | Jenna | ESY | SLP - Speech Language Pathologist | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$26.61 | \$1,703 |
| Running | Lauren | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$26.61 | \$1,703 |
| Allen | Martha | ESY | SLP - Speech Language Pathologist | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$26.61 | |

| Tempory Wo | rk Agrement | | | | | | | | | |
|---------------|-------------|---|-----------------------------------|-------------------|---|--------------------------|-----------|---------------------|----------------|----------------------|
| Last Name | First Name | ESY, Summer - Non-ESY, or Regular School Year | Position/Title | Assignment | Details of Assignment | Assignment Start Date | End Date | Total # of Hours | Hourly Rate | Est. Total Amount |
| HELLER | MARY | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$26.61 | \$1,703 |
| Heller | Molly | ESY | Classroom Assistant | CA | ESY (Molly still needs to sign papers-no Employee # or code yet) | 7/8/2024 | 8/1/2024 | 64 | \$26.61 | \$1,703 |
| Kennealy | Morgan | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$26.61 | \$1,703 |
| RUMANN | URSULA | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$26.61 | \$1,703 |
| Opseth | Rachael | Summer - Non-ESY | Secondary Teacher | Extra Duty | Intake/Enrollment | 7/15/2024 | 8/30/2024 | 40 | \$42.43 | \$1,697 |
| Black | Rebecca | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$26.16 | \$1,674 |
| Zickrick | Michael | Regular School Year | SPED Teacher | Training | PCM Prep | 7/1/2024 | 6/30/2025 | 28 | \$59.20 | \$1,658 |
| Bulger | Rhonda | Summer - Non-ESY | Nurse | Extra Duty | Prep for school year. (Health Plans and Medical Reports) | 8/1/2024 | 8/23/2024 | 40 | \$41.40 | \$1,656 |
| Aalgaard | Maren | ESY | Intervener Assistant | Extra Duty | Intervener Deaf Plus-D/HH Resource Elem | 7/8/2024 | 8/1/2024 | 64 | \$25.76 | \$1,649 |
| Kuntz | Meghan | ESY | Intervener Assistant | Extra Duty | Intervener Deaf Plus-D/HH Resource Elem | 7/8/2024 | 8/1/2024 | 64 | \$25.76 | \$1,649 |
| Wesley | Renata | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$25.69 | \$1,644 |
| Bray | Laura | Summer - Non-ESY | SLP - Speech Language Pathologist | Extra Duty | D/HH Resource Team (12 hours), D/HH Resource Speech Language Pathologist (15 hours) | 7/1/2024 | 8/30/2024 | 27 | \$60.80 | \$1,642 |
| Kraft | Joan | Summer - Non-ESY | Nurse | Extra Duty | Prep work prior the school year. (Health Plans, Medical Paperwork) | 8/1/2024 | 8/23/0024 | 40 | \$40.87 | \$1,635 |
| Johnson | Jennifer | ESY | RBT | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$25.30 | \$1,619 |
| Holbrook | Lana | ESY | Educational Support Professional | Ed. Support Prof. | June SS Session | 6/12/2025 | 6/20/2025 | 45 | \$35.26 | \$1,587 |
| KNIGHT | ROBIN | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$24.69 | \$1,580 |
| Cortez | Alexis | ESY | RBT | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$24.21 | \$1,549 |
| Bruels | Katelyn | ESY | Intervener Assistant | Extra Duty | Intervener Deaf Plus-D/HH Resource Elem | 7/8/2024 | 8/1/2024 | 64 | \$24.21 | \$1,549 |
| Perkins | Travis | ESY | RBT | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$24.21 | \$1,549 |
| HILD | ALISON | ESY | Classroom Assistant | CA | ESY | 7/9/2024 | 8/1/2024 | 64 | \$23.70 | \$1,517 |
| Pangerl | Jenny | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$23.70 | \$1,517 |
| Stoos | Judy | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$23.70 | \$1,517 |
| Wilger | Melinda | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$23.70 | \$1,517 |
| Dye | Nancy | ESY | Classroom Assistant | Extra Duty | Classroom Assistant 1:1-D/HH Resource Elem | 7/8/2024 | 8/1/2024 | 64 | \$23.70 | \$1,517 |
| Hart | Amy | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$23.23 | \$1,487 |
| FAYE | BASS | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$23.23 | \$1,487 |
| Spychalla | Keith | ESY | Classroom Assistant | CA | ESY sub as needed | 7/8/2024 | 8/1/2024 | 64 | \$23.23 | \$1,487 |
| Arana | Marco | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$23.23 | \$1,487 |
| Ophus | Samantha | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$23.23 | \$1,487 |
| Larsen | Betsy | Regular School Year | SPED Teacher | Teacher | Teacher coverage over Spring Break | 3/24/2025 | 3/28/2025 | 23 | \$64.06 | \$1,473 |
| Kneer | Adam | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$22.76 | |
| DePover | Ashley | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$22.76 | \$1,457 |
| Kilpatrick | Bevin | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$22.76 | \$1,457 |
| Ostenson | Deonna | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$22.76 | \$1,457 |
| Miller | Elizabeth | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$22.76 | \$1,457 |
| Hanson | Jennifer | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$22.76 | \$1,457 |
| Meyen | Krista | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$22.76 | \$1,457 |
| Calander-Roll | Marissa | ESY | Classroom Assistant | Extra Duty | Classroom Assistant-D/HH Resource Elem | 7/8/2024 | 8/1/2024 | 64 | \$22.76 | \$1,457 |
| Anderson | Nicole | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$22.76 | |
| Stiff | Rachel | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$22.76 | |
| Kreiling | Rebecca | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$22.76 | |
| Mitchell | Tammy | ESY Nov. 50Y | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$22.76 | |
| Petersen | Jennifer | Summer - Non-ESY | Mental Health Practitioner | Training | 2-day Ukeru trainer training in Grand Rapids, MN. 16 hours training and 8 hours travel. | 8/7/2024 | 8/8/2024 | 24 | \$60.24 | \$1,446 |
| Andersen | Kasandra | Regular School Year | Educational Support Professional | Extra Duty | Classroom prep, field trips, early childhood mtgs | 9/3/2024 | | 51 | \$28.26 | \$1,441 |
| Lind | Allyssa | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$22.30 | \$1,427 |
| Huback | Breanna | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$22.30 | \$1,427 |
| Rank | Christina | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$22.30 | \$1,427 |
| Crawford | Daniel | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$22.30 | \$1,427 |
| Foxworth | Kenneth | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$22.30 | \$1,427 |
| Studer | Lauren | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$22.30 | \$1,427 |
| McElroy | Melissa | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$22.30 | \$1,427 |
| Lavell | Tiffani | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$22.30 | \$1,427 |

| | ule A auramana | - (T\A/A'-) | | | | | | | | |
|----------------------|----------------|--------------------------------------|---|------------|--|------------|-----------|------------|---------|------------|
| empory wo | rk Agrement | | | | | | | | | |
| | | ESY, Summer - Non-ESY, or Regular | | | | Assignment | | Total # of | Hourly | Est. Total |
| Last Name | First Name | School Year | Position/Title | Assignment | Details of Assignment Ukeru training and materials prep (inital training content review, development of summative assessment tool, unpacking and assembling shields, development of 3-4 | Start Date | End Date | Hours | Rate | Amount |
| Hoelscher | Justin | Regular School Year | Intake Coordinator | Training | refresher slideshows) (24 hours), Training time (10 hours). | 7/1/2024 | 6/30/2025 | 34 | \$41.75 | \$1,420 |
| Schulz | Samantha | ESY | Mental Health Practitioner | Extra Duty | site visits for ECSE | 7/1/2024 | 8/23/2024 | 32 | \$44.05 | \$1,410 |
| Nasset | Abrecia | ESY | Classroom Assistant | CA | esy | 7/8/2024 | 8/1/2024 | 64 | \$22.00 | \$1,408 |
| Roush | Nicolle | Regular School Year | Admin. Assistant | Extra Duty | Payroll coverage | 4/1/2025 | 6/30/2025 | 30 | \$46.40 | \$1,400 |
| Willenbring | Brianna | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 66 | \$21.21 | \$1,400 |
| Carlson | Bethany | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$21.52 | \$1,37 |
| reeman | Cassandra | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$21.52 | \$1,37 |
| Vitchell | Ella | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$21.52 | \$1,37 |
| Moon | Heather | ESY | Classroom Assistant | Extra Duty | Classroom Assistant-D/HH Resource Elem | 7/8/2024 | 8/1/2024 | 64 | \$21.52 | \$1,37 |
| Murphy | Heather | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$21.52 | \$1,37 |
| WILLIAMS | MIKAYLA | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$21.52 | |
| Kent | Penny | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$21.52 | |
| Nenger-Vaughn | | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$21.52 | |
| Madrid | Serina | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$21.52 | |
| Vasshan | Steven | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$21.52 | |
| Sheppard | Tina | Summer - Non-ESY | Classroom Assistant | Extra Duty | D/HH Resource Preschool Classroom Assistant | 7/8/2024 | 8/1/2024 | 48 | \$28.61 | |
| Peterson | Amelia | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$21.21 | |
| Richard | Clara | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$21.21 | |
| Running | Gina | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$21.21 | |
| Schulze | Karen | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$21.21 | |
| Knight | | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$21.21 | |
| MARK | LEIGH | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$21.21 | |
| Schwartz | Nancy | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$21.21 | |
| Gray | Andrea | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$20.98 | |
| Hofmeister | Connor | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$20.98 | |
| Olson | Courtney | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$20.98 | |
| Jacobsen | Danielle | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$20.98 | |
| Sikich | Janelle | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$20.98 | |
| Jehling | Jessica | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$20.98 | |
| Stanway | Joshua | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$20.98 | |
| Petersen | | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$20.98 | |
| Arrigoni | Lucas | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$20.98 | |
| Millhouse | | ESY | Program Assistant | PA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$20.98 | |
| Hernandez | Paige | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$20.98 | |
| Holmes | Summer | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/2/2024 | 64 | \$20.98 | |
| Swenson | Taelyn | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$20.98 | |
| | Taylor | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$20.98 | |
| vic⊑iligott Borup | John | Summer - Non-ESY | Secondary Teacher | Extra Duty | Odysseyware Update | 7/15/2024 | 8/30/2024 | 20 | \$66.97 | |
| Kuegah | Marie | ESY | Classroom Assistant | PA PA | ESY | 7/9/2024 | 8/1/2024 | 60 | \$22.28 | |
| Kuegan KIRCHMAN | AMY | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$22.20 | |
| Ounigan | Annette | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$20.72 | |
| | Claire | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$20.72 | |
| /IGUE | ELLIOT | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$20.72 | |
| Chami Pedrosa | | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$20.72 | |
| DeWees | Morgan | ESY | Classroom Assistant | CA | ESY | 7/1/2024 | 8/1/2024 | 64 | \$20.72 | |
| Bohn | Nathalie | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$20.72 | |
| Young | Pierre | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$20.72 | |
| roung Roberson | Terrance | ESY | Classroom Assistant Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 64 | \$20.72 | |
| | Tremia | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | | \$20.72 | |
| Jack THAMES | | ESY | Classroom Assistant Classroom Assistant | CA | ESY | 7/8/2024 | | 64 64 | \$20.72 | |
| | TRENT | | | | | | 8/1/2024 | | | |
| Rasmussen | Shannon | Summer - Non-ESY | DHH - Teacher | Extra Duty | CD Action Team (9 hrs)-D/HH Res Team (12 hrs) | 7/1/2024 | 8/30/2024 | 21 | \$62.92 | \$1,32 |

| Tempory Wor | k Agrement | s (TWA's) ESY, Summer - | | | | | | | | |
|---------------|-----------------|------------------------------------|----------------------------------|---------------------|---|--------------------------|------------------------|---------------------|--------------------|----------------------|
| Last Name | First Name | Non-ESY, or Regular School Year | Position/Title | Assignment | Details of Assignment | Assignment Start Date | End Date | Total # of Hours | Hourly Rate | Est. Total Amount |
| Andersen | Kasandra | ESY | Classroom Assistant | Extra Duty | D/HH Resource Preschool Classroom Assistant | 7/8/2024 | 8/1/2024 | 48 | \$26.61 | \$1,277 |
| Manninen | Melanie | Summer - Non-ESY | SPED Teacher | Teacher | Apprenticeship Orientation | 8/19/2024 | 8/22/2024 | 20 | \$63.83 | \$1,277 |
| Arana | Marco | Regular School Year | Educational Support Professional | Extra Duty | Field experience/RTI for Apprentices | 4/21/2025 | 6/30/2025 | 48 | \$26.17 | \$1,256 |
| Szoka | Brenda | Summer - Non-ESY | SPED Teacher | Extra Duty | Clean, organize, structure, and plan for increased BOTE room use by all students next year. Currently the room is under utilized and has turned into a dumping ground. TESA could be using the location for more work readiness and training activities. | 7/1/2024 | 8/23/2024 | 21 | \$60.80 | \$1,246 |
| Holm | Lloidi | Summer - Non-ESY | SPED Teacher | Extra Duty | Review Student Levels, Develop Interventions, Create Leveled Library for TESA in | 7/1/2024 | 0/22/2024 | 20 | \$61.67 | ¢4 000 |
| | Heidi | | SPED Teacher | Extra Duty | collaboration with Kayleen Taffte Exploring locations in Bloomington, including its outskirts, and in various Dakota County cities to identify volunteer sites and potential work experience opportunities for Committy-Based Vocational Learning. If School District 271 restricts 917 from working at cortain sites usell consider other patients. | 7/1/2024 | 8/23/2024 8/23/2024 | 20 | \$61.67 | \$1,233 |
| Klaustermeier | Jennifer | Summer - Non-ESY | SPED leacher | Extra Duty | at certain sites, we'll consider other options. Review Student Levels, Develop Interventions, Create Leveled Library for TESA in | 7/1/2024 | 0/23/2024 | 20 | \$01.07 | \$1,233 |
| Collins | Kathleen | Summer - Non-ESY | SPED Teacher | Extra Duty | collaboration with Kayleen Taffte | 7/1/2024 | 8/23/2024 | 20 | \$61.66 | \$1,233 |
| Wilson | Lori | Regular School Year | Educational Support Professional | Teacher | will be teaching a homebound student | 5/5/2025 | 6/11/2025 | 36 | \$33.50 | \$1,206 |
| Volkert | John | ESY | PHD Teacher | CA | ESY | 7/8/2024 | 8/1/2024 | 44 | \$26.61 | \$1,171 |
| Kranz | Andrea | Regular School Year | Educational Support Professional | Extra Duty | Field experience/RTI for Apprentices | 4/21/2025 | 6/30/2025 | 44 | \$26.52 | \$1,167 |
| Adelmann | Lauren | Summer - Non-ESY | Program Assistant | Training | 40-hour virtual RBT training through Relias (40 hrs), initial Ukeru training for CASE staff (10 hrs) | 7/1/2024 | 10/18/2024 | 50 | \$22.76 | \$1,138 |
| | Kelly | Summer - Non-ESY | DHH - Teacher | Extra Duty | Curriculum Planning w-IGHMS (6 hrs)/D/HH Resource Team (12 hours) | 7/1/2024 | 8/30/2024 | 18 | \$63.16 | |
| | Heather | Regular School Year | Educational Support Professional | Extra Duty | Field experience/RTI for Apprentices | 4/21/2025 | 6/30/2025 | | \$23.68 | |
| | Kylie | Regular School Year | Educational Support Professional | Prof. Dev. | ITRAC class and field experience hours. | 4/21/2025 | 6/30/2025 | 50 | \$22.53 | |
| | Francesca | Summer - Non-ESY | English Learner Teacher | Prof. Dev. | Update District EL Plan of Service, Procedure Document for EL processes, update and add resources to the Multilingual Learning Page on the IRC | 7/1/2024 | 8/30/2024 | 20 | \$55.88 | |
| - | Abigail | Regular School Year | Vision-TVI | Extra Duty | Supporting BVI instruction of 2 students on homebound service (DASH) | 9/3/2024 | 6/15/2025 | 25 | \$44.56 | |
| | Christopher | Regular School Year | Custodian | Extra Duty | Overtime Pay | 7/1/2024 | 6/30/2025 | 50 | \$22.20 | |
| | Bobbi | ESY | Educational Support Professional | Ed. Support Prof. | June SS Session | 6/12/2025 | 6/20/2025 | 45 | \$24.17 | |
| | Andrea | Summer - Non-ESY | Classroom Assistant | CA | Teacher Apprentice Summer Related Technical Instruction | 7/19/2024 | 8/22/2024 | 45 | \$24.17 | |
| | Amy | Regular School Year | RBT | Training | 40 hour RBT Training through Relias | 7/1/2024 | 10/18/2024 | 40 | \$26.63 | |
| | Laura | Summer - Non-ESY | Psychologist | Extra Duty | psych assessment and test kit tool clean up/clean out/inventorying and creation of needs list, school psych drive and processes updates for new psychs | 7/1/2024 | 7/31/2024 | 16 | \$65.59 | , |
| | Marco | Summer - Non-ESY | Classroom Assistant | CA | Teacher Apprentice Summer Related Technical Instruction | 7/19/2024 | 8/22/2024 | 45 | \$23.23 | |
| | Annie | Summer - Non-ESY | DHH - Teacher | Extra Duty | Curriculum Planning w-IGHMS (6 hrs)/DHH Res Team (12) "Core Values Committee 2 Work: - Core Values Exploration lesson plan for staff to complete with students during week 1 of the 2024-25 school year - A one-page, 11x17 | 7/1/2024 | 8/30/2024 | 19 | \$53.89 | |
| Novy | Rachel | Summer - Non-ESY | SPED Teacher | Prof. Dev. | Core Values poster | 7/1/2024 | 8/30/2024 | 16 | \$63.88 | \$1,022 |
| Hansen | Ashley | ESY | Educational Support Professional | Ed. Support Prof. | June SS Session | 6/12/2025 | 6/20/2025 | 45 | \$22.28 | \$1,003 |
| Hart | Amy | Regular School Year | Educational Support Professional | Teacher | Teacher sub workshop week | 8/20/2024 | 8/30/2024 | 32 | \$31.00 | \$992 |
| Benhart | Eugene | Summer - Non-ESY | SPED Teacher | Extra Duty | PAES LAB Training & Set Up | 7/1/2024 | 8/23/2024 | 16 | \$61.67 | \$987 |
| McGibbon | Sharri | Summer - Non-ESY | SPED Teacher | Training | 2-day Ukeru trainer training in Grand Rapids, MN. 16 hours training and 8 hours travel. | 8/7/2024 | 8/8/2024 | 24 | \$40.88 | \$981 |
| Rao | Anjali | Regular School Year | Intervener Assistant | Training | MN DeafBlind Intervener Training | 10/25/2024 | 1/18/2025 | 33 | \$29.71 | \$980 |
| Jonasen | Jana | Summer - Non-ESY | SPED Teacher | Teacher | Apprenticeship Orientation | 8/19/2024 | 8/22/2024 | 20 | \$48.71 | \$974 |
| Murphy | Heather | Summer - Non-ESY | Classroom Assistant | CA | Teacher Apprentice Summer Related Technical Instruction | 7/19/2024 | 8/22/2024 | 45 | \$21.52 | \$968 |
| | Phil | Regular School Year | Mental Health Practitioner | Extra Duty | over case load to complete another DA for student DHH Itin team (10)- CAASI Survey Completion - Develop Student Survey & Activities for | 1/27/2025 | 2/3/2025 | | \$63.84 | |
| | Sonia Cassie | Summer - Non-ESY ESY | DHH - Teacher Physical Therapist | Teacher Training | implementation for SY24-25, Summer Itinerant ESY hours Birth-5 (8) PT equipment training for ESY Staff | 7/2/2024 7/8/2024 | 8/30/2024 7/18/2024 | 18 16 | \$52.97 \$59.20 | |
| | Michael | Summer - Non-ESY | SPED Teacher | Prof. Dev. | "Core Values Committee 2 Work: - Core Values Exploration lesson plan for staff to complete with students during week 1 of the 2024-25 school year | 7/1/2024 | 8/30/2024 | 16 | \$59.20 \$59.20 | |
| Wenger-Vaughn | | Regular School Year | RBT | Training | 40-hour virtual RBT training through Relias | 10/15/2024 | | 40 | \$23.68 | |
| | Kylie | Summer - Non-ESY | Classroom Assistant | CA | Teacher Apprenticeship Related Technical Instruction and Orientation | 7/19/2024 | 8/22/2024 | 45 | \$20.98 | |
| | Sarah | Summer - Non-ESY | RBT | Training | Virtual RBT training through Relias | 7/1/2024 | | 40 | \$23.23 | |
| | Michelle | Summer - Non-ESY | SLI - Interpreter | Extra Duty | Interp for deaf staff-dist mtgs, HR mtgs, or dist-wide training | 7/1/2024 | 6/30/2025 | | \$45.64 | |
| ŭ | Abigail | Summer - Non-ESY | RBT | Training | Virtual RBT Training through Relias | 7/1/2024 | | 40 | \$21.52 | |
| | Mollie | Regular School Year | Intervener Assistant | Training | MN DeafBlind Intervener Training | 2/21/2025 | | | \$26.04 | |
| | Amber | Regular School Year | Program Assistant | Training | PCM Prep | 7/1/2024 | 6/30/2025 | | \$30.63 | |
| | Anjali | ESY | Classroom Assistant | CA | CA for Braille Camp | 8/5/2024 | 8/15/2024 | 32 | \$26.70 | |
| | Brianna | Summer - Non-ESY | RBT | Training | Virtual RBT training through Relias | 7/1/2024 | | 40 | \$20.70 | |
| • | Lucas | Summer - Non-ESY | Program Assistant | Training | 40-hour virtual RBT training through Relias | | 10/18/2024 | 40 | \$20.98 | |
| , angon | _000 | Carillion - NON-LOT | i Togram Assistant | Training . | TO HOUR VIRGORITYON BURNING BROUGHT NORGO | 1,1/2024 | 10/10/2024 | 70 | Ψ20.30 | φυσθ |

| - | | (T)4/41-) | | | | | | | | |
|---------------------|-------------|------------------------------------|-----------------------------------|--------------------|---|--------------------------|------------|---------------------|--------------------|----------------------|
| Tempory Wor | rk Agrement | S (I WA'S) ESY, Summer - | | | | | | | | |
| Last Name | First Name | Non-ESY, or Regular School Year | Position/Title | Assignment | Details of Assignment | Assignment Start Date | End Date | Total # of Hours | Hourly Rate | Est. Total Amount |
| Morris | Stephanie | ESY | Program Assistant | PA | ESY | 7/22/2024 | 8/1/2024 | 32 | \$25.69 | \$822 |
| Kerkhoff | Jennifer | Summer - Non-ESY | SPED Teacher | Teacher | JourneyWorker for Apprenticeship Orientation | 8/19/2024 | 8/22/2024 | 20 | \$40.74 | \$815 |
| Minick | Amber | ESY | Program Assistant | PA | ESY | 7/8/2024 | 7/19/2024 | 32 | \$24.70 | \$790 |
| Albers | Rebecca | Summer - Non-ESY | SPED Teacher | Teacher | Apprenticeship Orientation | 8/19/2024 | 8/22/2024 | 20 | \$38.65 | \$773 |
| Stoesz | Heather | Summer - Non-ESY | SLP - Speech Language Pathologist | Extra Duty | D/HH Resource Team | 7/1/2024 | 8/30/2024 | 12 | \$62.92 | \$755 |
| | | | | | "Core Values Committee 2 Work: - Core Values Exploration lesson plan for staff to complete with students during week 1 of the 2024-25 school year - A presentation and/or video regarding ISD 917's Core Values for use with all newly-hired staff from NSA 2024 onward (can be presented at NSA in the large group and shared in smaller groups for mid-year hires) - Collaboration with HR to update interview guides to incorporate core | 74/200 | 0.400.4000 | | 242.5 | |
| | Anna | Summer - Non-ESY | Secondary Teacher | Prof. Dev. | values into the questions we ask applicants. | 7/1/2024 | 8/30/2024 | 16 | \$46.95 | |
| | Tanya | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 7/19/2024 | 32 | \$22.76 | |
| | Debra | Regular School Year | Educational Support Professional | Ed. Support Prof. | ESP Coverage at other location, while assigned site is on Spring Break. | 3/31/2025 | 4/4/2025 | | \$32.26 | |
| | Ashley | Regular School Year | Program Assistant | Training | PCM Prep | 7/1/2024 | 6/30/2025 | 28 | \$25.76 | |
| | Courtney | Summer - Non-ESY | Psychologist | Extra Duty | Meet to plan Lebanon staff events for the school year | 7/15/2024 | 8/16/2024 | 17 | \$42.15 | |
| | Sherilyn | ESY | Vision-TVI | Teacher | ITIN June Hours | 6/16/2025 | 6/30/2025 | 10 | \$70.76 | |
| | Amy | ESY | Vision-TVI | Teacher | ITIN June Hours | 6/16/2025 | 6/30/2025 | 10 | \$68.86 | |
| Gahimer | Alyssa | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 32 | \$21.21 | |
| Wood | Casandra | ESY | Program Assistant | PA | ESY | 7/22/2024 | 8/1/2024 | 32 | \$21.21 | |
| Zahn | Shawn | ESY | Classroom Assistant | CA | 02352 | 7/22/2024 | 8/1/2024 | 32 | \$21.21 | |
| Cortez | Alexis | Regular School Year | RBT | Training | PCM Prep | 7/1/2024 | 6/30/2025 | 28 | \$24.21 | \$678 |
| Inman | Courtney | Summer - Non-ESY | Psychologist | Extra Duty | Psych assessment tool and test kit clean up/clean out/inventorying and creation of needs list, school psych drive and processes updates for new psychs | 7/1/2024 | 7/31/2024 | 16 | \$42.15 | \$674 |
| | Ann | ESY | Audiologist | Teacher | Equipment drops, training, repairs, Birth-3 Evaluations | 7/1/2024 | 8/1/2024 | 10 | \$67.07 | |
| | Cindy | Summer - Non-ESY | Occupational Therapist | Extra Duty | Clean, organize, structure, and plan for increased BOTE room use by all students next year. Currently the room is under utilized and has turned into a dumping ground. TESA could be using the location for more work readiness and training activities. | 7/1/2024 | 8/23/2024 | 10 | \$65.59 | \$656 |
| Tennessen | Laura | Summer - Non-ESY | Psychologist | Prof. Dev. | SRP/PREPaRE work | 8/1/2024 | 8/31/2024 | 10 | \$65.59 | |
| McGibbon | Sharri | ESY | SPED Teacher | Teacher | ESY sub as needed | 7/8/2024 | 8/1/2024 | 16 | \$40.87 | |
| D'Aloia | Jeanne | Summer - Non-ESY | DHH - Teacher | Extra Duty | D/HH Resource Team | 7/1/2024 | 8/30/2024 | 12 | \$53.60 | |
| Ideen | Sarah | Regular School Year | Lead Teacher | Extra Duty | Interview panel member for DHH applicants | 4/1/2025 | 6/30/2025 | 10 | \$62.16 | \$622 |
| Hart | Amy | ESY | Program Assistant | Teacher | Short Call Sub for Teacher | 7/25/2024 | 8/1/2024 | 20 | \$31.00 | \$620 |
| | Betsy | ESY Summer - Non-ESY | SPED Teacher Vision-TVI | Teacher Prof. Dev. | ESY Homebound Services for Cole Carlson DHH Itin Team-CAASI Survey Completion (8 hours); BVI Team-development of an eval template for consistency of service provision across member districts | 7/8/2024 | 8/1/2024 | 10 | \$61.10 \$38.00 | |
| | Alison | Regular School Year | Educational Support Professional | Ed. Support Prof. | Subbing at DCTC TESA | 9/4/2024 | 9/6/2024 | 23 | \$26.52 | |
| | Michael | Summer - Non-ESY | SPED Teacher | Prof. Dev. | New Staff Training on Evals | 7/1/2024 | 6/30/2025 | 10 | \$62.39 | |
| Burgio Pfisterer | Emily | ESY | Audiologist | Teacher | Equipment drops, training, repairs, Birth-3 Evaluations | 8/5/2024 | 8/20/2024 | 10 | \$59.20 | |
| | Kim | ESY | Audiologist | Teacher | | 8/5/2024 | 8/20/2024 | 10 | \$59.20 \$59.20 | |
| Austin Stelflug | Sara | Summer - Non-ESY | Program Assistant | Training | Equipment drops, training, repairs, Birth-3 Evaluations 2-day Ukeru trainer training in Grand Rapids, MN. 16 hours training and 8 hours travel. | 8/7/2024 | 8/8/2024 | 24 | \$24.52 | |
| Cortez | Alexis | Summer - Non-ESY | Program Assistant | Training | 2-day Ukeru training in Grand Rapids, MN. 16 hours training and 8 hours travel. | 8/7/2024 | 8/8/2024 | 24 | \$24.32 | |
| Adelmann | Lauren | Summer - Non-ESY | Classroom Assistant | Training | 2-day Ukeru training in Grand Rapids, MN. 16 hours training and 8 hours travel. | 8/7/2024 | 8/8/2024 | 24 | \$24.21 | |
| | Tracie | Summer - Non-ESY | BCBA | Extra Duty | Nurtured Heart-planning and implementation-Trainer | 7/1/2024 | 8/23/2024 | 12 | \$44.70 | |
| | Kathleen | Regular School Year | SPED Teacher | Extra Duty | TESA Exchange | 9/3/2024 | 6/12/2024 | 10 | \$53.14 | |
| | Amy | Summer - Non-ESY | Mental Health Practitioner | Extra Duty | meet to plan Lebanon staff events for the school year | 7/15/2024 | 7/16/2024 | 10 | \$53.14 \$52.44 | |
| • | Erin | Summer - Non-ESY | Secondary Teacher | Extra Duty | CIP | 8/13/2024 | 8/13/2024 | 8 | \$64.52 | |
| | Jennifer | Regular School Year | SPED Teacher | Extra Duty | TESA Exchange | 9/3/2024 | 6/12/2025 | 10 | \$51.44 | |
| | Jennifer | Regular School Year | Mental Health Practitioner | Training | Ukeru Trainer | 2/24/2025 | | 8 | \$63.72 | |
| | Leah | Summer - Non-ESY | Occupational Therapist | Extra Duty | Inventory of all of the task boxes and categorizing and labeling them by skills addressed as well as levels of difficulty. With this menu, we can then identify tasks that specifically address the IEP goals of students to use for data collection. | 7/1/2024 | 8/23/2024 | 8 | \$62.00 | |
| Kent | Lisa | Summer - Non-ESY | DHH - Teacher | Extra Duty | D/HH Resource Team | 7/1/2024 | 8/30/2024 | 12 | \$40.65 | \$488 |
| Nitcher | Kimberly | Regular School Year | SLI - Interpreter | Extra Duty | Sign Language Interpreter for Tammy Mitchell | 8/28/2024 | 6/12/2025 | 12 | \$40.64 | \$488 |
| Williams | Donald | Summer - Non-ESY | Secondary Teacher | Extra Duty | CIP | 8/13/2024 | 8/13/2024 | 8 | \$60.69 | \$486 |
| Mord | A oble: | Cummor Non FOY | Vision TVI | Drof Davi | BVI Team - Development of an evaluation template for consistency of service provision | 7/0/000 1 | 0/00/000 | | 040.00 | 0.400 |
| | Ashley | Summer - Non-ESY | Vision-TVI | Prof. Dev. | across member districts (8) ITIN July/August (3) | 7/2/2024 | 8/30/2024 | 11 | \$43.89 | |
| Zickrick | Michael | Summer - Non-ESY | SPED Teacher | Extra Duty | MOVING PACES CLASSROOM | 8/8/2024 | 8/12/2024 | 24 | \$20.00 | |
| Peltier | Jessica | Summer - Non-ESY | SPED Teacher | Extra Duty | CIP | 8/13/2024 | 8/13/2024 | 8 | \$59.20 | \$474 |

| Tempory Wo | rk Agrement | S (TWA'S) ESY, Summer - | | | | | | | | |
|------------|-------------|------------------------------------|-----------------------------------|-------------------|---|--------------------------|------------|---------------------|----------------|----------------------|
| Last Name | First Name | Non-ESY, or Regular School Year | Position/Title | Assignment | Details of Assignment | Assignment Start Date | End Date | Total # of Hours | Hourly Rate | Est. Total Amount |
| Wald | Kim | Summer - Non-ESY | Secondary Teacher | Extra Duty | CIP | 8/13/2024 | 8/13/2024 | 8 | \$59.20 | \$474 |
| Rosenberg | Shannon | Summer - Non-ESY | DHH - Teacher | Extra Duty | D/HH Resource Team | 7/1/2024 | 8/30/2024 | 12 | \$39.39 | \$473 |
| Vrieze | Janel | Summer - Non-ESY | SPED Teacher | Training | BTT Prep | 7/1/2024 | 6/30/2025 | 7 | \$67.48 | \$472 |
| Peltier | Mollie | ESY | Intervener Assistant | Extra Duty | ESY (Summer Learning Academy at LC) as 1:1 for CM | 6/23/2025 | 6/26/2025 | 18 | \$26.04 | \$469 |
| Ghormley | Adam | Summer - Non-ESY | Secondary Teacher | Extra Duty | CIP | 8/13/2024 | 8/13/2024 | 8 | \$58.57 | \$469 |
| Savage | Dawn | Regular School Year | SLI - Interpreter | Extra Duty | Interp for Dist 271 stu-meetings, conferences, before/after school extracuricular activities | 8/23/2024 | 6/30/2025 | 10 | \$45.64 | \$456 |
| Petersen | Kylie | Summer - Non-ESY | Educational Support Professional | Ed. Support Prof. | JourneyWorker for Apprenticeship Orientation | 8/19/2024 | 8/22/2024 | 20 | \$22.53 | \$451 |
| Hernandez | Paige | Regular School Year | Educational Support Professional | Ed. Support Prof. | Extra time each week with student (HC) needing more support | 9/3/2024 | 6/13/2025 | 20 | \$22.53 | \$451 |
| Burgio | Michael | Summer - Non-ESY | SPED Teacher | Training | BTT Prep | 7/1/2024 | 6/30/2025 | 7 | \$62.39 | \$437 |
| Inman | Courtney | Summer - Non-ESY | Psychologist | Extra Duty | SRP/PREP/aRE work | 8/1/2024 | 8/31/2024 | 10 | \$42.15 | \$422 |
| Winblad | Heather | Summer - Non-ESY | SPED Teacher | Training | Initial Ukeru training for CASE staff | 7/15/2024 | 7/17/2024 | 10 | \$41.80 | \$418 |
| Buttedal | Alexandra | Summer - Non-ESY | SPED Teacher | Extra Duty | Meet to plan Lebanon staff events for the school year | 7/15/2024 | 7/16/2024 | 10 | \$40.88 | \$409 |
| McGibbon | Sharri | Summer - Non-ESY | SPED Teacher | Training | Initial Ukeru training for CASE staff | 7/15/2024 | 7/17/2024 | 10 | \$40.88 | \$409 |
| Kennealy | Morgan | Summer - Non-ESY | SPED Teacher | Extra Duty | To have no waitlist and complete all intakes by the first day of school | 8/1/2024 | 8/31/2024 | 12 | \$33.25 | \$399 |
| Kinsella | Shawn | Summer - Non-ESY | ВСВА | Extra Duty | CIP planning | 8/13/2024 | 8/13/2024 | 8 | \$49.58 | |
| Knight | Robin | Summer - Non-ESY | Program Assistant | Prof. Dev. | "Core Values Committee 2 Work: - Core Values Exploration lesson plan for staff to complete with students during week 1 of the 2024-25 school year | 7/1/2024 | 8/30/2024 | 16 | \$24.69 | \$395 |
| Erie | Joni | Summer - Non-ESY | Program Assistant | Training | PAES Lab Training | 7/30/2024 | 7/31/2024 | 11 | \$35.26 | \$388 |
| Petersen | Jen | Regular School Year | Mental Health Practitioner | Training | Facilitate Conscious Discpline Training at District 192 (3 hrs training/3 hrs prep) | 10/24/2024 | 10/24/2024 | 6 | \$63.72 | \$382 |
| Engel | Victoria | Summer - Non-ESY | Mental Health Practitioner | Extra Duty | Hopes and mission and Goal of the Conscious discipline Action team and Implementation planning for the year | 7/1/2024 | 8/23/2024 | 9 | \$42.43 | \$382 |
| Blanchette | Amanda | Summer - Non-ESY | SPED Teacher | Training | Intervener Training | 8/14/2024 | 8/14/2024 | 6 | \$62.16 | \$373 |
| Everson | Kathleen | ESY | Program Assistant | PA | ESY sub as needed | 7/8/2024 | 8/1/2024 | 16 | \$22.76 | \$364 |
| D'Aloia | Jeanne | Regular School Year | DHH - Teacher | Extra Duty | ASL Assessment online training to support w-assessment of students who are D/HH | 9/27/2024 | 9/28/2024 | 6 | \$59.31 | \$356 |
| Allen | Ann | ESY | Audiologist | Teacher | Equipment drops, Training, Repairs, Birth -3 Evals | 6/16/2025 | 6/30/2025 | 5 | \$70.76 | \$354 |
| Kurten | Carol | Summer - Non-ESY | Program Assistant | Training | PAES Lab Training | 7/30/2024 | 7/31/2024 | 11 | \$30.26 | \$333 |
| Sittarich | Jenna | Summer - Non-ESY | SLP - Speech Language Pathologist | Extra Duty | PD Presentation- prep and delivery | 8/1/2024 | 8/28/2024 | 8 | \$41.35 | \$331 |
| Rowley | Sarah | ESY | Physical Therapist | Teacher | Itinerant PT for Hastings | 6/9/2025 | 6/30/2025 | 5 | \$65.51 | \$328 |
| Larson | Abigail | Summer - Non-ESY | Vision-TVI | Prof. Dev. | BVI Team - Development of an evaluation template for consistency of service provision across member districts | 7/2/2024 | 8/30/2024 | 8 | \$40.88 | \$327 |
| Ludewig | Sarah | Summer - Non-ESY | DHH - Teacher | Prof. Dev. | DHH Itinerant Team - CAASI Survey Completion - Develop student survey and activities for Implementation for 2024-2025 school year | 7/1/2024 | 8/30/2024 | 8 | \$40.88 | \$327 |
| Moon | Heather | Regular School Year | Intervener Assistant | Extra Duty | Before or after school extracurricular activities for Dist 834 student KAT | 4/18/2025 | 6/30/2025 | 12 | \$26.87 | |
| D'Aloia | Jeanne | Summer - Non-ESY | DHH - Teacher | Extra Duty | Sign language interpreter interviews | 7/30/2024 | 6/30/2025 | | \$53.31 | |
| Tarmann | Phil | Regular School Year | Mental Health Practitioner | Extra Duty | over case load to complete DA for student | 1/22/2025 | 1/31/2025 | 5 | \$63.84 | |
| Pfisterer | Emily | ESY | Audiologist | Teacher | Equipment drops, repairs, training, B-3 Evals | 6/16/2025 | 6/30/2025 | - | \$63.84 | |
| Austin | Kim | ESY | Audiologist | Teacher | Equipment drops, Training, Repairs, B-3 Evals | 6/16/2025 | 6/30/2025 | 5 | \$63.84 | |
| Tarmann | Phillip | | Mental Health Practitioner | Extra Duty | over case load complete DA on KP | 4/1/2025 | 4/14/2025 | 5 | \$63.84 | |
| Goodson | Emily | Summer - Non-ESY | SPED Teacher | Extra Duty | Onboarding for Lead Teacher position | 7/9/2024 | 7/10/2024 | 8 | \$39.38 | |
| Tuvey | Sara | Summer - Non-ESY | SPED Teacher | Extra Duty | Sunshine/Culture Committee/planning school events | 7/1/2024 | 8/23/2024 | 5 | \$62.18 | · |
| Henry | Kathleen | | Mental Health Practitioner | Extra Duty | cluture climate committee | 7/16/2024 | 7/16/2024 | 6 | \$51.66 | |
| Larsen | Betsy | ESY | SPED Teacher | Teacher | ESY Homebound Services for Aiden Simones | 7/8/2024 | 8/1/2024 | 5 | \$61.10 | |
| Larsen | Betsy | ESY | SPED Teacher | Teacher | ESY Homebound Services for Kollette Kinsley | 7/8/2024 | 8/1/2024 | 5 | \$61.10 | |
| Kerkhoff | Jennifer | | SPED Teacher | Prof. Dev. | Supporting CIP development | 8/1/2024 | 8/31/2024 | 8 | \$37.38 | |
| Baker | Carmen | Summer - Non-ESY | Classroom Assistant | Training | PAES Lab Training | 7/30/2024 | 7/31/2024 | 11 | \$27.02 | |
| Groff | Cassie | ESY | Physical Therapist | Training | PT training for staff in DASH program (LNHS) | 7/8/2024 | 7/18/2024 | 5 | \$59.20 | |
| Moulton | Emily | | SPED Teacher | Extra Duty | Coverage for Due Process and Prep | 9/3/2024 | 9/20/2024 | 6 | \$49.29 | |
| Rowley | Sarah | ESY | Physical Therapist | Training | PT equipment training for Hastings DASH ESY Staff | 7/8/2024 | 7/11/2024 | 5 | \$58.89 | |
| Rensch | Amy | | Program Assistant | Training | PAES Lab Training | 7/30/2024 | 7/31/2024 | | \$26.52 | |
| Kilpatrick | Bevin | Summer - Non-ESY | Program Assistant | Training | PAES Lab Training | 7/30/2024 | 7/31/2024 | 11 | \$24.97 | |
| Ridgley | Angela | Regular School Year | Nurse | Nurse | Training in another nurse. | 9/4/2024 | 9/4/2024 | 8 | \$33.50 | |
| Pemble | Holly | Summer - Non-ESY | PHD Teacher | Teacher | Part B Evaluation hours July August | 7/1/2024 | 8/23/2024 | 4 | \$65.59 | |
| Moulton | Emily | | SPED Teacher | Extra Duty | Literacy Class | 11/19/2024 | 5/20/2025 | 5 | \$49.29 | |
| Strese | Debra | Summer - Non-ESY | Educational Support Professional | Moves | Moving supplies/classroom | 8/19/2024 | 8/19/2024 | 8 | \$32.26 | |
| Weeks | Kaitlyn | Summer - Non-ESY | SPED Teacher | Prof. Dev. | Supporting CIP development | 8/1/2024 | 8/31/2024 | 8 | \$31.85 | |
| Rix | Melanie | | Lead Teacher | Lead Teacher | Admin sub for ESY | 7/23/2024 | 7/23/2024 | 4 | \$61.67 | |
| VIA. | INICIALIIC | LUI | LOGU ICACITCI | LCAU ICAUICI | Admin 300 for E01 | 112312024 | 112312024 | 4 | ψ01.07 | φ241 |

| Tompo=:\\/- | ale A augus as a se 4 - | (T\A/A'a) | | | | | | | | |
|---------------|-------------------------|---------------------|-----------------------------------|------------|--|------------|------------|------------|--------------------|------------|
| Tempory Wo | rk Agrements | ESY, Summer - | | | | | | | | |
| | | Non-ESY, or Regular | | | | Assignment | | Total # of | Hourly | Est. Total |
| Last Name | First Name | School Year | Position/Title | Assignment | Details of Assignment | Start Date | End Date | Hours | Rate | Amount |
| Gonyer | Tess | Summer - Non-ESY | Mental Health Practitioner | Extra Duty | Meet to plan Lebanon staff events for the school year | 7/16/2024 | 7/16/2024 | 6 | \$40.88 | \$24 |
| Stelflug | Sara | Summer - Non-ESY | Program Assistant | Training | Initial Ukeru training for CASE staff | 7/15/2024 | 7/17/2024 | 10 | \$24.52 | \$24 |
| Perkins | Travis | Summer - Non-ESY | Program Assistant | Training | Initial Ukeru training for CASE staff | 7/15/2024 | 7/17/2024 | 10 | \$24.21 | \$242 |
| Scherer | Amber | Summer - Non-ESY | SPED Teacher | Extra Duty | Meet to plan Lebanon staff events for the school year | 7/16/2024 | 7/16/2024 | 6 | \$39.80 | \$23 |
| HEIDEMANN | JANA | Summer - Non-ESY | SLP - Speech Language Pathologist | Teacher | Meet to plan Cedar parent and student events for the school year | 7/1/2024 | 8/30/2024 | 4 | \$59.20 | \$237 |
| Spychalla | Keith | Summer - Non-ESY | Program Assistant | Training | Initial Ukeru training for CASE staff | 7/15/2024 | 7/17/2024 | 10 | \$23.23 | \$232 |
| Adalmana | Angolo | Cummer Non FCV | Dragram Assistant | Extra Duty | Hopes and mission and Goal of the Conscious discipline Action team and Implementation | 7/1/2024 | 8/23/2024 | 9 | \$25.69 | \$231 |
| | - J | Summer - Non-ESY | Program Assistant | Extra Duty | planning for the year WJ Training | 8/1/2024 | 8/30/2024 | 4 | \$25.69 \$65.59 | |
| Tennessen | | Summer - Non-ESY | Psychologist Dragram Assistant | Training | | | | | | |
| Everson | | Summer - Non-ESY | Program Assistant | Training | Initial Ukeru Training for CASE staff | 7/15/2024 | 7/17/2024 | 10 | \$22.76 | |
| Anderson | | Summer - Non-ESY | Program Assistant | Training | Initial Ukeru training for CASE staff | 7/15/2024 | 7/17/2024 | 10 | \$22.76 | |
| • | , | Summer - Non-ESY | Program Assistant | Training | Initial Ukeru training for CASE staff | 7/15/2024 | 7/17/2024 | 10 | \$22.76 | |
| | - | Summer - Non-ESY | Program Assistant | Training | Initial Ukeru training for CASE staff | 7/15/2024 | 7/17/2024 | 10 | \$22.76 | |
| Adelmann | | Summer - Non-ESY | Educational Support Professional | Training | CASE Ukeru Training Prep | 8/19/2024 | 8/30/2024 | 8 | \$28.16 | |
| Adelmann | | Regular School Year | Educational Support Professional | Training | Ukeru Trainer | 2/24/2025 | 2/24/2025 | 8 | \$28.16 | |
| Johnson | Jennifer | Regular School Year | RBT | Training | Ukeru Training | 2/24/2025 | 2/24/2025 | 8 | \$27.66 | |
| Bruels | , | Summer - Non-ESY | Intervener Assistant | Extra Duty | CD Action Team | 7/1/2024 | 8/30/2024 | 9 | \$24.21 | |
| Wenger-Vaughn | | Regular School Year | RBT | Training | Ukeru Training | 2/24/2025 | 2/24/2025 | 8 | \$26.87 | |
| Zahn | | Summer - Non-ESY | Classroom Assistant | Training | Initial Ukeru Training for CASE staff | 7/15/2024 | 7/17/2024 | 10 | \$21.21 | |
| Stanway | | Summer - Non-ESY | Classroom Assistant | Training | Initial Ukeru training for CASE staff | 7/15/2024 | 7/17/2024 | 10 | \$20.98 | |
| Petersen | , - | Summer - Non-ESY | Classroom Assistant | Extra Duty | Meet to plan Lebanon staff events for the school year | 7/15/2024 | 7/16/2024 | 10 | \$20.98 | |
| | | Summer - Non-ESY | Educational Support Professional | Training | CASE Ukeru Training Prep | 8/19/2024 | 8/30/2024 | 8 | \$26.04 | |
| • | | Summer - Non-ESY | Program Assistant | Training | Initial Ukeru training for CASE staff | 7/15/2024 | 7/17/2024 | 10 | \$20.72 | |
| Odell | | Summer - Non-ESY | BCBA | Extra Duty | Sunshine/Culture Committee/Plan Student and Parent Events for the school year | 7/1/2024 | 8/23/2024 | 5 | \$41.35 | |
| | | Summer - Non-ESY | Audiologist | Extra Duty | Lunch & Learn - Hearing simulations for member districts | 7/9/2024 | 7/17/2024 | 3 | \$67.07 | |
| Landgraf | Stacy | Regular School Year | Educational Support Professional | Training | Ukeru Training | 2/24/2025 | 2/24/2025 | 8 | \$24.97 | |
| | | Regular School Year | Educational Support Professional | Extra Duty | scan in curriculum with Destiny | 9/3/2024 | 9/3/2024 | 8 | \$26.52 | |
| Dietrich | Megan | Regular School Year | SLI - Interpreter | Extra Duty | Prep work before interpreting for a theater show | 5/12/2025 | 5/13/2025 | 6 | \$32.74 | |
| Aalgaard | Maren | Regular School Year | Intervener Assistant | Extra Duty | Member of interview team | 3/20/2025 | 3/20/2025 | 7 | \$28.16 | |
| Stanway | Joshua | Regular School Year | Educational Support Professional | Training | Ukeru Training | 2/24/2025 | 2/24/2025 | 8 | \$22.53 | |
| Bonnert | Eileen | Regular School Year | Health Associate | Extra Duty | As needed for attending student meetings on part as a Health Associate. | 9/16/2024 | 6/12/2024 | 5 | \$36.03 | |
| | | Summer - Non-ESY | Program Assistant | Extra Duty | Meet to plan Lebanon parent and student events for the school year | 7/15/2024 | 7/15/2024 | 4 | \$44.51 | |
| Greeley | Britney | Regular School Year | Educational Support Professional | Extra Duty | Field trips or early childhood meetings | 4/28/2025 | 6/30/2025 | 8 | \$22.00 | |
| Nichols | | Regular School Year | Educational Support Professional | Training | Ukeru Training | 2/24/2025 | 2/24/2025 | 8 | \$22.00 | |
| Tennessen | Laura | Regular School Year | Psychologist | Training | Safe Zone Training Trainer | 2/19/2025 | 2/19/2025 | 3 | \$70.35 | |
| Price | Brian | Regular School Year | Psychologist | Training | Safe Zone Training Trainer | 2/27/2025 | 2/27/2025 | 3 | \$68.13 | |
| Sherman | ` , | Regular School Year | Reading Specialist | Training | Safe Zone Training Trainer | 2/19/2025 | 3/12/2025 | 3 | \$66.47 | |
| Running | | Summer - Non-ESY | SPED Teacher | Teacher | Culture committee | 7/22/2024 | 7/22/2024 | 4 | \$41.19 | |
| Palan | Rosalie | Regular School Year | Psychologist | Training | Safe Zone Training Trainer | 2/26/2025 | 3/12/2025 | 3 | \$64.98 | |
| Filas | Katherine | Regular School Year | SLI - Interpreter | Extra Duty | Prep work before interpreting for a theater show | 5/12/2025 | 5/13/2025 | 6 | \$27.00 | |
| Floyd | Becky | Regular School Year | Health Associate | Training | staying late 1x a month for staff meeting | 9/10/2024 | 6/12/2025 | 5 | \$32.03 | |
| Lauer | | Summer - Non-ESY | SPED Teacher | Teacher | Summer Intake Meetings | 8/22/2024 | 8/22/2024 | 4 | \$40.02 | |
| • | | Summer - Non-ESY | SPED Teacher | Extra Duty | To help plan and prepare family engagement and building community events for the year. | 7/1/2024 | 7/31/2024 | 4 | \$37.40 | |
| Inman | • | Summer - Non-ESY | Psychologist | Training | WJ Training | 8/1/2024 | 8/30/2024 | 4 | \$42.15 | |
| Nitcher | | • | SLI - Interpreter | Extra Duty | Sign Language Interpreter for TESA students for extra activities (such as Spring Formal) o | 4/4/2025 | 6/30/2025 | 4 | \$35.64 | |
| Kuntz | - | ESY | Intervener Assistant | CA | ECC Camp | 8/9/2024 | 8/9/2024 | 5 | \$28.16 | |
| | | Summer - Non-ESY | DHH - Teacher | Prof. Dev. | New Staff Training on Evals | 8/1/2024 | 8/30/2024 | 3 | \$52.97 | |
| | | Summer - Non-ESY | Classroom Assistant | Extra Duty | Meet to plan Lebanon staff events for the school year | 7/16/2024 | 7/16/2024 | 6 | \$21.52 | |
| • | | Summer - Non-ESY | Social Worker | Extra Duty | Court hearing for student's educational truancy case | 8/14/2024 | 8/14/2024 | 2 | \$60.79 | |
| | Anjali | Regular School Year | Intervener Assistant | Extra Duty | TESA Spring Formal | 4/25/2025 | 4/25/2025 | 4 | \$29.71 | |
| Robinson | Courtney | Regular School Year | Psychologist | Training | Safe Zone Training Trainer | 2/27/2025 | 2/27/2025 | 3 | \$45.73 | |
| | ANDREA | Regular School Year | Educational Support Professional | Extra Duty | Provide student services over winter break | 12/23/2024 | 12/26/2024 | 5 | \$22.53 | |
| Hernandez | Paige | Regular School Year | Educational Support Professional | Extra Duty | Provide student services over winter break. | 12/30/2024 | 1/2/2025 | 5 | \$22.53 | |
| Carlson | Bethany | Summer - Non-ESY | Program Assistant | Extra Duty | Sunshine/Culture Committee/planning school events | 7/1/2024 | 8/23/2024 | 5 | \$21.52 | \$108 |

| Tempory Wo | rk Agrement | s (TWA's) | | | | | | | | |
|------------------|-----------------|--------------------------------------|----------------------------------|-------------------|--|---------------|------------|------------|------------------|------------|
| | | ESY, Summer - Non-ESY, or Regular | | | | Assignment | E. J.B. | Total # of | Hourly | Est. Total |
| Last Name | First Name | School Year | Position/Title | Assignment | Details of Assignment | Start Date | End Date | Hours | Rate | Amount |
| ANDERSON | AMY | Summer - Non-ESY | Program Assistant | PA | Meet to plan Cedar parent and student events for the school year | 7/12/2024 | | | \$26.63 | |
| Kurten | Carol | Regular School Year | Educational Support Professional | Extra Duty | Spring Formal | 4/25/2025 | | | \$30.26 | |
| Arch | Kelsie | Regular School Year | Psychologist | Training | Safe Zone Training Trainer | 2/26/2025 | | | \$41.01 | |
| Hills | Hannah | Regular School Year | Educational Support Professional | Extra Duty | Giving Reading Assessments During Open House | 4/10/2025 | | | \$24.97 | |
| Black | Rebecca | Regular School Year | Educational Support Professional | Extra Duty | Spring Formal | 4/25/2025 | | | \$28.22 | |
| Cortez | Alexis | Summer - Non-ESY | RBT | Extra Duty | Meet to plan Lebanon parent and student events for the school year | 7/15/2024 | | | \$24.21 | |
| Nygard | Taryn | Regular School Year | Educational Support Professional | Extra Duty | Give Reading Assessments during Open House | 4/10/2025 | | | \$23.68 | |
| Hart | Amy | ESY | Program Assistant | Teacher | Short Call Sub for Teacher | 7/22/2024 | | | | |
| Wilson | Lori | Regular School Year | Educational Support Professional | Ed. Support Prof. | ESP at Pond since needed help & no students at LEC | 4/11/2025 | 4/11/2025 | 3 | \$28.56 | |
| Anderson | Nicole | Summer - Non-ESY | Program Assistant | Extra Duty | To help plan and prepare family engagement and building community events for the year. | 7/1/2024 | 7/31/2024 | 4 | \$22.76 | \$91 |
| Hernandez | Paige | Regular School Year | Educational Support Professional | Ed. Support Prof. | Student HC receiving 1:1 services over spring break | 3/24/2025 | 3/28/2025 | 4 | \$22.53 | \$90 |
| Anderson | Tracie | Summer - Non-ESY | BCBA | Prof. Dev. | New Staff Training on FBAs/PBSP | 8/1/2024 | 8/30/2024 | . 2 | \$44.71 | \$89 |
| Richard | Clara | Summer - Non-ESY | Program Assistant | Extra Duty | Meet to plan Lebanon parent and student events for the school year | 7/15/2024 | 7/15/2024 | 4 | \$21.21 | \$85 |
| Cortez | Alexis | Regular School Year | RBT | Ed. Support Prof. | help sub at Riverview ECSE | 11/8/2024 | 11/8/2024 | 3 | \$26.04 | \$85 |
| Mayer | Lisa | Regular School Year | SPED Teacher | Extra Duty | Attending/Supervising student graduation (based on student's threat assessment, he is no | 6/7/2025 | 6/7/2025 | 2 | \$41.81 | \$84 |
| Roberson | Terrance | Summer - Non-ESY | Classroom Assistant | Extra Duty | To help plan and prepare family engagement and building community events for the year. | 7/1/2024 | 7/31/2024 | . 4 | \$20.72 | \$83 |
| Scherer | Amber | Summer - Non-ESY | SPED Teacher | Extra Duty | to move to another classroom | 7/1/2024 | 8/23/2024 | . 4 | \$20.00 | \$80 |
| Riesgraf | Amy | Summer - Non-ESY | Mental Health Practitioner | Moves | move classrooms | 8/1/2024 | 8/23/2024 | 4 | \$20.00 | \$80 |
| Tarmann | Phillip | Summer - Non-ESY | Mental Health Practitioner | Moves | moving classrooms | 7/1/2024 | 8/23/2024 | 4 | \$20.00 | \$80 |
| Hayhurst | Cassidy | Regular School Year | Educational Support Professional | Ed. Support Prof. | Help cover @ ECSE site since No students @ LEC | 4/11/2025 | 4/11/2025 | 3 | \$22.85 | \$74 |
| Greengo | Pamela | Regular School Year | Health Associate | Training | Training called Stop the Bleed, held at DCTC Mendota Room. | 1/27/2025 | 1/27/2025 | 2 | \$41.03 | \$62 |
| Rix | Melanie | Summer - Non-ESY | Lead Teacher | Training | Cognitive Coach Training | 8/1/2024 | 8/30/2024 | 1 | \$61.10 | \$61 |
| Kranz | Isabella | Regular School Year | SPED Teacher | Teacher | Sub for homebased student (IDEA). | 3/21/2025 | 3/21/2025 | 1 | \$38.33 | \$48 |
| Turzynski | Adrienne | Summer - Non-ESY | BCBA | Extra Duty | Nurtured Heart planning and implementation-Trainer. Adrienne has not been set up as a rehired employee yet | 7/1/2024 | 8/23/2024 | . 12 | \$0.00 | \$0 |
| Johnson | Deborah | ESY | SPED Teacher | Teacher | ESY for ECSE | 7/1/2024 | 8/23/2024 | 32 | \$0.00 | \$0 |
| Anderson | Donn | ESY | Classroom Assistant | CA | ESY ONLY | 7/8/2024 | 8/1/2024 | 64 | \$0.00 | \$0 |
| McParland | Eleanor | ESY | Classroom Assistant | CA | ESY (only) | 7/8/2024 | 8/1/2024 | 64 | \$0.00 | \$0 |
| Logan | Isabel | ESY | Classroom Assistant | CA | ESY (New Hire starting 7/8/24) Hopes and mission and Goal of the Conscious discipline Action team and Implementation | 7/8/2024 | 8/1/2024 | 64 | \$0.00 | \$0 |
| Taldone | Jessica | Summer - Non-ESY | SPED Teacher | Extra Duty | planning for the year | 7/1/2024 | 8/23/2024 | . 9 | \$0.00 | \$0 |
| Taldone | Jessica | ESY | SPED Teacher | Teacher | ESY for ECSE | 7/1/2024 | 8/23/2024 | 32 | \$0.00 | \$0 |
| Stennes | Jordan | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | 8/1/2024 | 65 | \$0.00 | \$0 |
| | | 50 1/ | | | ESY - Katie is our contracted employee who was just hired as a direct hire at CEC for | 7/0/0004 | 0/4/0004 | | ••• | |
| Kaufman | Kati | ESY | Classroom Assistant | CA | ESY and next school year | 7/8/2024 | | | \$0.00 | |
| Malone | Keith | ESY | Classroom Assistant | CA | ESY | 7/8/2024 | | | \$0.00 | |
| Frazier Dwyer | Mariah Molly | ESY Summer - Non-ESY | Classroom Assistant BCBA | CA Extra Duty | ESY (New Hire starting 7/8/24) BCBA Summer Work Hours, 40 hours required but up to 80 hours with supervisor pre-approval | 7/8/2024 | 8/1/2024 | | \$0.00 \$0.00 | |
| j | • | | | | | | | | , | , , |
| | | | | | | Est. Total TW | /A's FY 25 | | | \$960,452 |
| | | | | | | Est. Total TW | /A's FY24 | | | \$761,028 |
| | | | | | | Percentage 0 | Change | | | 26% |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |

| Tempory Wor | rk Aarements | (TWA's) | | | | | | | | |
|-------------|--------------|---|----------------|------------|-----------------------|--------------------------|----------|---------------------|----------------|----------------------|
| Last Name | First Name | ESY, Summer - Non-ESY, or Regular School Year | Position/Title | Assignment | Details of Assignment | Assignment Start Date | End Date | Total # of Hours | Hourly Rate | Est. Total Amount |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |

| Tempory Wor | rk Aarements | (TWA's) | | | | | | | | |
|-------------|--------------|---|----------------|------------|-----------------------|--------------------------|----------|---------------------|----------------|----------------------|
| Last Name | First Name | ESY, Summer - Non-ESY, or Regular School Year | Position/Title | Assignment | Details of Assignment | Assignment Start Date | End Date | Total # of Hours | Hourly Rate | Est. Total Amount |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |

| Tempory Wor | rk Agrements | s (TWA's) | | | | | | | | |
|-------------|--------------|--|----------------|------------|-----------------------|--------------------------|----------|---------------------|----------------|----------------------|
| Last Name | First Name | S (TWA's) ESY, Summer - Non-ESY, or Regular School Year | Position/Title | Assignment | Details of Assignment | Assignment Start Date | End Date | Total # of Hours | Hourly Rate | Est. Total Amount |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |

| Tempory Wor | rk Agrements | s (TWA's) | | | | | | | | |
|-------------|--------------|--------------------------------------|----------------|------------|-----------------------|------------|----------|-------|------|------------|
| | | ESY, Summer - Non-ESY, or Regular | | | | Assignment | | | | Est. Total |
| Last Name | First Name | School Year | Position/Title | Assignment | Details of Assignment | Start Date | End Date | Hours | Rate | Amount |
| | | | | | | | | | | |
| | | | | | | | | | | |